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QI. Glucose is stored as glycogen in liver as well as in muscles, however ‘when thefe is
requirement of glucose at the organism level, only liver contributed .méiio?l% t(’fj-‘;g)él’mtain
blood glucose levels at all tissues, Why these biological differences dCyrandiwhat is the
fate of stored glycogen in muscles? &(3 niirks)

Q2. If you are supplied an enzyme which has the capability of catalying aifeaction with a
velocity of 0.25 micro moles/min, how do you calculate it sp;gffjﬁéa{gctivity in terms of
units/mg, if it is done at the level of | microgram concentraﬁ'o,fg’:’-‘%,;{?i,‘, # (3 marks)

Q3. What will be the biological implication on the enzyme gajﬁly%g},i reaction if a structural
analogue of substrate is present in the reaction mixturqfﬁg%@’he can overcome from the
above mentioned situation? o (3 marks)

Q4. “DNA and RNA are the basic molecules of genetigg;in%@fingt"f*’bn, however there origination is
due to the amalgam of carbohydrates and proteljp&’;ff* o (3 marks)

a) How do you prove above mentioned stgt'é’mgfig?? .
k) Why nature has influenced the presencéiof thynithe over uracil base in DNA?

Q5. There are three proteins a, b and ¢ are ;Q,ggtea‘ﬁaﬁ%xterna] to membrane, integral to membrane
and cell cytoplasm, respectively, Which ofithe protein will extract at the last with difficulty?
Justify your answer with the séquefice“ofexperimental approach. (3 marks)

Q6. A 45 year person observed“thatswhegéver he eats the meal rich in carbohydrate, there is
elevation of levels of glucgse, ih, biood and it remain for longer period of time. Even the

Vi, o

blood glucose levels are:_«,nﬁ)r ¢ than 120mg/dl in the morning time (overnight fasting). How

do you correlate this, Conditfoh with the defect in the specific organ and the possible
biochemistry of algy%%_;éjﬁe{;j”ﬁoned symptoms? (3 marks)

Q7. If you are requiréjﬁd“ftg\ deliver a hydrophilic anticancer drug inside the cell and it has to be
protected frgrﬁ*ﬁ@g@ggéhtion from different degrading enzymes near cellular environment

what w@ul,d_jge i:l;g;v'n‘riethod of delivery? Also explain the structural features of the delivery

systerf'i‘:%‘-_:;_;_w ) (3 marks)
Q8. (‘;;htal&es‘tefbj_“jés. always considered by majority of population as harmful molecule in humans,
A However it is invariably present in all human cells. (4 marks)

: ’?1:)_,% If if@;isf*‘so harmful molecule, then why it is been piaced in human cells?
b} How do you differentiate between the terms “good cholesterol” and “bad cholesterol™?



